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IR ﬁiﬂ | General Instructions:
This Question Paper consists of four sections:
Section- A Reading 20 Marks
Section-B Writing 20 Marks
. ‘Section- C Grammar 15 Marks
Section-D  Literature 25 Marks -
1) All the questions dre Compulsory.
2) All the answers should be correctly numbered.
3) Do not write anything on the question paper.

SECTION-A-READING (20 MARKS)
' T) Read the following passage carefully.
The Vision and Leadership of Ratan Tata

Ratan Tata is a name synonymous with vision, leadership, and philanthropy. Bom on
December 28, 1937, in Mumbai, India, Ratan Tata is one of the most respected industrialists
in the world. As the former chairman of Tata Group, India's largést conglomerate, he
transformed the company into a global powerhouse, expanding its presence in over 100
countries and diversiin’ngA its business into various sectors, including stecl, automobiles,

telecommunications, and information technology.

Ratan Tata began his journey with Tata Group in 1962, working on the shop floor of Tata
Steel. This hands-on expeﬁence gave him an in-depth understanding of the company's
operations and a deep respedt' for the workers. After taking over as chairman in 1991, he
implemented bold stmtegiéé to modemize the group's business practices and foster
innovation. One of his notable achievements was the acquisition of several global brands,
such as Tetley, Corus, Jaguar, and Land Rover. These acquisitions not only strengthened Tata

Group's global footprint but also showcased India's growing economic prowess.
Beyond his business acumen, Ratan Tata is known for his commitment to ethical leadership

and corporate social responsibility. Under his guidance, Tata Group has consistently
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prioritized the welfare of its employees, the communities it operates in, and the environment.
His belief that businesses should give back to society is reflected in Tata Group's nuImerous
philanthropic initiatives, including education, healthcare, and rural development projects. The
Tata Trusts, one of India's oldest and most prominent charitable organizations, play 2 crucial

role in these efforts.

Ratan Tata's leadership style is characterized by humility, integrity," .and a relentless’ pul’Sllit of
excellence. He has always emphasized the importance of innovation and staying ahead of the
curve. His vision led to the creation of the Tata.Nano, an affordable car designed to make
personal transportation accessible to millions of Indians. Although the Nano faced challenges

in the market, it remains a symbol of Tata's ambition to drive innovation for social good.

Even after retiring as chairman in 2012, Ratan Tata continues to inspire and mentor young
entrepreneurs and leaders. He is actively involved in various ventures and startups,
supporting new ideas and technological advancements. His dedication to nurturing thg next

generation of leaders is evident in his investments in diverse sectors, from e-commerce to

clean energy.

In conclusion, Ratan Tata's legacy is not just about building 5 global business empire but also
about leading with compassion and integrity. His contributions to industry and society have

made a lasnng 1mpact and his visionary leadershlp continues to msplre millions around the
world,

¢ 1y
! '
3E J,

Ch(jo;é the correct Options: . : o M : " (1x8=8)
1) What role did Ratan Tata take up.at the beginning of his career at Tata Group?
a) CEO v b) Chairman
 ¢) Shop floor worker at Tata Steel d) Head of telecommunications
2) Which of the following brands was acquired by Tata Group under Ratan Tata's
leadersg}{)
a) Ford b) Toyota c) Jaguar and Land Rover ~ d) BMW

3) What is' the characteristic of Ratan Tata's leadership style mentioned in the passage?
a) Arogance b) Humility ¢) Indifference d) Strictness

4) What m%vatwe product did Ratan Tata introduce to make personal transportation more
accessﬂi? in India?

b) Tata Ind1c c) Tata Nano d) Tata Safan

b) Sports
d) Fashion
6) What 1s a synonym for "philanthropy" as used in the passage?
~ b) Charity c) Wealth d) Business
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7) Ramn Tata iS not a

3) enl . -
9 l?)\atanm:'ll‘)ret'lem: . b) industrialists ¢) politician . d) philanthropist
N ata’s vision and strategies were not useful to Tata Group to
8) °°°m€f a global powerhouse b) to become rich
¢) to provide employment d) to bring about disharmony
IN) Read the following passage carcfully. (12)

Every moment of life is precious. Time is the essence of life. It is the wealth given to us by
Nature. Everyday all of us get 24 hours; nothing less, nothing more. Now, it is up to us how
we use it. People who know how to make the best use of every moment easily open the doors
of suceess in their lives and those who misuse time get failures one after the other. There is a
saying that, *“Spent time and spent words cannot come back.”’ Everybody is tied by the limits
of time; even God respects the boundaries of time. Work wins appreciation only when it gets
completed in a requisite time frame. Beyond the ume allotted, work loses all its utility
however good may have been its quahty Just as fallmg of rains after the crops have dried up
have no use; likewise, when the time is past the deadline, the work loses its importance and
value. | -

ing can

When iron is hot it can be cast into whichever shape we want. Once it gets cold nothin

be made out of it, however, much we may beat the same. In the same way, a person who has

learnt to wisely use his time and has understood how to cast himself accordmg to the need of
the time has actually leamnt the true mantra of ﬁfe. Shakespeare wrote in one of his plays, ‘I
wasted time, and now doth time waste me.”” It is true that a person who wastes even a little
bit of time loses wonderful opportunities that he could have otherwise availed of by utilizing
that time. All the great leaders have one thing in common. They wisely utilize every moment
6 of their time. When other people are busy in wasting time in laziness, great men are busy in
making plans for the future. There is no person in history who wasted his time and still
managed to achleve greatness Therefore, there is great need to manage time wisely. ¢‘Careful
Time Management” refers to careful planmng of time and sincere execution of this plan.
This is the only mantra to attain success in any endeavour. A simple change in outlook and

some modification in one’s daily routine can result in a big jump forward towards greater

achievements.
A) Answer the following in 30-40 words.
a) How does one manage time carefully?
b) What quahtles should a person possess to learn the mantra of life?
ammples to show that timely actions are important?

d) What two thm cannot come back?

(2x4=8)
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B 1) Find words from the passage which mean the following: @

(1) attempt (ii) reqmrcd
b) Write one set of opposite words given in the passage ' . ,,(l)
<) Which Shakespearcan quote is given in the passage? | D

SECTION-B-WRITING 0 MARKS)

III) You are Vaishali Sharma/ Vaibhav Sharma, the Head Girl/ Head Boy of Oxford ngh
School, Bahadurgarh. Your school is organising an inter class Drawing and Painting
Competition for classes V to VIII on 25® Sept in the school auditorium
9 am to 12 noon. Draft a notice in 50 words inviting the students to participate in the
program. Put the notice in a box. _ )

IV) You are Supriya Pathak of Indira Nagar, Benaras. You have seen that during rainy
season the drains are overflowing and there is no proper system for the waste disposal
Write a letter to the Editor of The Times of India, New Delhi highlighting the problems

‘ faced by the common man during the rainy season. Suggest some measures to 1.mp1'ove )

| the situation. 0]

L V) Develop a story from the given outline in not more than 150-200 words. Remember

to give a title to the story and write the moral of the story at theend. . - t)}
An old lady becomes blind ............. calls in a doctor .......... agrees to I;;y large fees
| if cured .............. doctor comes daily........ Starts stealing one piece of furniture daily

.......... delays the cure ......... at last cures her .......... demands his fees......... lady

refuses to pay, saying cure is not complete......... doctor objects lady says sight not-
restored as she cannot see all her fumniture ................ moral.

SECTION-C GRAMMAR (15 MARKS)

VI) Rearrange to form meaningful sentences. » . @
a) Vanished/The car/seemed to/ into thin/have/air. '
b) The villagers/tried/the crime/on the young woman /to pin S, ' ' D)
c) Stop/and tell me/beating about/what you want/the bush. -
d) don’t pay/if you/attention/you might/the wrong train/to the announcement/board.

VII) Read the conversation and complete the blanks given in the reported speech by
choosing from the options given below. @

 inform your mother?,
Raj: Mother has guessed the reason.

b) Why he was'_i e fi m.school yesterday.
c) Why he was latefffom school the previous day.
d) Why was he lateftom school the previous day?
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it) Raj explained that
a) There was a friendly match between our school and DAV Public School.
b) There had been a friendly match between our school and DAV Public School.
¢) There had been a friendly match between their school and DAV Public School.
d) Had there been a friendly match between their school and DAV Public School.

iii) Father then asked Raj .
a) Did you inform your mother? ' b) if he did inform your mother.
¢) if he had informed his mother d) if he will inform his mother

iv) Raj replied that. :
a) Mother have guessed the reason. . b) Mother had guessed the reason.

c¢) Mother has guessed the reason. d) Mother should have guessed the reason.

VIII) The following passage haslhot been edited. There is one error in each line. Write
the incorrect word and the correct word as given in the example against the

~ correct blank number in your answer sheet: (&)
i Incorrect Word Corre'ct Word
Facebook, with more then 1 Billion users ~ e.g then - than
is celebrated its 10th birthday this year. a)
The company was launching by Mark ' b)
Zuckerberg at 4th February 2004. The site was c)
conceived in a Harvard dorm in a way d)
to connect student and let them build an R
identity for himself online. )|
IX) Do as directed ’ ‘  (1xd=4)
1) Choose the correct Answer. ‘ ‘ '
His face —-----—-—-when he heard the good news. (burned out, lit up)
2) Say whether the following sentenceis in the Active or the Passive voice. .-
A Jack and Jill went up the hill. '
® 3) Fill in the blanks in the sentence below (the verbs given in brackets will give you 2
clue).
Raj come to school today. His-------------(absent) was noticed by all the teachers.
‘ the correct Answer. _
=7 (beat around the bush, have a clean record)Give a precise
SECTION D — Literature (25 MARKS)

ithe extract given below and answer the following questions. (1x4=4)
. But to go to school in a summer mor,

. 0! it drives all joy away;

Under a cruel eye outworn,

 The little ones spend the day,

In sighing and dismay.
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N
(a)Write the name of the poet. A 4
(b) Who does cruel and outwomn eye refer to? R
(c)Who is ‘the little one’ here? ,
(d) Write a pair of thyming words from the stanza given above.
X B) Read the extract given below and answer the following questions: (1x4=4)
Dear Bepin, . A 3
I had no idea that affluence would bring about the kind of change in you that it has :;l’dne
Was it so difficult for you to help out an old friend down on hlS luck? T have no money,
S0 my Tesources are limited. What have is imagination, a part of which I used in
retnbutlon of your lmfeelmg behav10ur Well, you’ll beall ngh’t again now. A'novel I've
wntten is being considered by a publlsher If he likes it enough, it'll see me through the
next few months. @

i) Who wrote this letter?
1) What is the profession of the person who wrote the letter?
1ii) What is the meaning of “Retribution™?
iv) What is the relationship of the writer with Bepin?
XT) Answer any four of the following questions in 30 — 40 words each: (2x4=8)
(2) Give two reasons for the discontent that led to the 1857 War of Independehce.
(b) What were the warning signs that both Tilly and her mother saw?
(c) What was difficult to understand from six miles up in the jet?
(d) What was the last/bargain? Between whom was it made?
(¢) What did Parimal Ghose know about Bepin Babu?
XIT) Answer any two of the following questions in 30 — 40 words each: (2x2=4)

@

(a)How did the camel get its hump? What was its use?
(b) What were the fhing's that Jaya collected? Why?
(c) Which skills of Hafeez Contractor made him a great architect?
XIIT) Answer anyone"
Imagine you are the Giant. Make 2 diary entry comparing your behaviour at the
L

beginning and at th egd ‘of the story. 'Explain what brought about the change in you.
‘ OR. . . y .

the followmg questions in 100words each: | )

¥ ﬁ'

“In the middle of the war we were makinj peace.” Between whom was the war being

fought? How did they make peace? Explain.

1
*hk
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AT AW /General Instructions:

1. This Question Paper has 5 Sections A, B, C, D, and E.

2. Section A has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

3. Section B has 5 Very Short Answer (VSA) type questions carrying 2 marks each.

4, Section C has 6 Short Answer (SA) type questions carrying 3 marks each.

5. Section D has 4 Long Answer (LA) type questions carrying 5 marks each.

6. Section E has 3 Case Based integrated units of assessment (4 marks each) with sub-parts
of the values of 1, 1 and 2 marks each respectively. Choice is only for 2 mark question.

7. Alquuestions are compulsory. '

________________________________________________ e e ——
Section: A (Imark x 20 = 20 marks)
1. The square root of 20.25 is .
()35 (b) 4.5 (c) 35 (d) 45 (1 mark)
2. What should be added to = to get -2
4 8 4 2

@3 ®) ©5 @ 3 (1 mark)
3. Solve: 6x—3=4x-5

(a1 ®) =1 ()2 (d) none of these (L mark) °

4. Assertion (A): If one angle of a parallelogram is 115° then the angle adjacent to it is 85°.
.Reason (R) : Sum of the adjacent angles in a parallelogram is 180°. (1 mark)
(a) Both A and R are true and R is the correct reason for A.

(b) Both A and R are true but R is not the correct reason for A,

(c) Ais true but R is not true.
(d) R is true but A is not true.
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S.  Astertion (A): A right triangle with sides 5 cm and 12 cm has hypotenuse of lemgth 13 gm.
Reason(R): By Pythagoras theorem, the square of the hypotenuseri.s the sum of &e sguares of
) : the other two sides. . I | - (1 mark)
(2) .Both A and R are true and R is the correct reason for A.

(b) Both A and R are true but R is not the correct reason for A.
(c) A is true but R is not true.
(d) R is true but A is not true.

6. The product of two rational numbers is always a ---—o—. (1 mark)
(a) whole numbers (b) integers  .(c) natural numbers _ (d) rational numbers
7. is the multiplicative identity for rational numbers. (1 mark)
@1 (®) 2 ©3 @4 2
8. If one member of a Pythagorean triplet is 2n, then the other two members are ' (1 mark)
(@ n, n’+1 (b)n,n?-1 | (©n*-1,n’+1 (d) n, n?
9.Zero has___reciprocal. (1 mark) =
T @)1 ®)2 © 3 (d) no s L,
10. The dia,go';xals of a square bisect each other at angles. ' (1 mark)
h (;) acute (b) right (c) obtuse - (d) reflex
11. How many cuboids of dimensions 25cm, 50cm, 25¢m will be needed to form a cube? (1 mark)
(@15 )4 (c) 30 ' s
12. What will be the number of digits in the square root of 56257 (1 mark)
@2 ®3 ©1 @4
13. How many sides does a pentagon hhve? (1 mark)
@2 JOL (© 7 @5 W
14. Minimum possible interior ;ngle in a regular polygon is . (1 mark)
(@) 70° , (b) 60° (c) 90° (d) 120°
Cricket balls are marked with numbers 1 to 25 are placed in the box and mixed thoroughly. One
cricket balls is"drawn at random from the box. Answer the following questions (Q.15 and Q.16):
15 V‘{hat is t‘he probability of getting a number less than 117 a (1 mark) 2
(@ 2/5 (b)4/5 (c) 11/25 d) 1725 ! ‘
16. What is t;h'erprobability of getting a number 4? ‘ (1 mark)
(a) 2/25 (b) 4/25 ©) 1125 () 11/25
17. What is‘t'he length of the side of a square whose area is 529 cm? ? (1 mark)
23em ' (c) 20cm (d) 12cm
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ls. \V‘ml \ 1 .
Mill be the mit digit ol the cubve root of a munber ends with 97 (1 mark)

- w9 OF (0) 6 W) 3
a '“l"*‘;"g\‘f oftwo adjacent angles of & parallelogram intersect at o (I magk)
207w o ®) 47 (<) 60° () 90"
( "“1”2"‘“ angles of n panaliclogram are (2x + 20)® and (3x = 10)* . The value of % in (1 mark)
") 26 () 30° (c) 34° (d) 38°

Section: B (2 marks x5=10 marks)

21. Solve; 1506r-4)-2(y-9) +5(y +6) =0 (2 marks)
22. Find the arca of square ficld if its perimeter is 64 8q. mefer. (2 marks)
23. Find the number of sides of'a regular polygon whose interior angle has a measure of 165°.
(2 marks)
24. How many numbers lic between the squares of the following numbers?
(i) 25 and 26 (ii) 99 and 100 (2 marks)
25. Simplify the following by using the distributive property. (2 marks)
(Ix @+ Ex)
) . Section: C (3 marks x 6 = 18 marks) 2 . )
26. Solveforx: o= +1=22 (3 marks)

27. Given a parallelogram ABCD. Complete each statement along with the definition or property used.

-~ - C
PN
P 0 S~ -
A B
i) AD=.... ii) angle DCB =........ iii) OC=...... (3 marks)
28. Find the cube root of 19,683 by prime factorisation method. (3 marks)
29. A die thrown. What is the probability of getting : (3 marks)
(a) A prime number? ) \
(b) A number greater than 4?

(¢) A number not greater than 5?
30. The measure of two adjacent angle of parallelogram are in the ratio of 4 : 5. Find

' the measure'of each angles of the parallelogram. # (3 marks) '
31. Find'the ledst number that must be added to 5607 so as to geta pérfect square. (3 marks)
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Section: D (5 marks x 4 =20 marks)

32. In the below figure both RISK and CLUE are parallclograms, Find the value of x. (5 marks)
K E_S U
(] \ J /
N L/
3 i/
A 70°
R i L
I C
33. Simplify using properties: g X (:;3) - ﬁ -% x % (5 marks) L
34. (i) Find the square root of 4096 by division method. (5 marks) oo
ch is divisible by each of the numbers 6, §and 15, .

- (1) Find the smallest square number whj

)
35. The number of students in a hostel, speaking different languages is-given below. . '
Display the'data in a pie chart, (5 marks)
| Language Hindi [English [Marathi | Tamil |Bengah | Total
No of Students 40 12 9 7 4 72

Section: E (4 marksx3=12 marks)

(Case Study Based Questions)
36. Adjoining pie-chart gives the expenditure (in %age) on various items and savings of a family
(4 marks)

during a month. Study the given pie-chart and answer the questions;

House rent Education for
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) On which item the expenditure was maximum? (1 mark)

(ii) On which item the expenditure was minimum? (1 mark)
(i) Expenditure on which item is cqual to total savings of the family? What will be the savings
if the monthly income is 1,20,000. (2 marks)
OR

If the monthly savings of the family is Rs 3000, What is thc monthly income of the family?

{
!

37. The sum of first “n” 0dd natural numbers is 2. If the number is a square number, it has to be the
sum of successive odd numbers starting from 1. So we can also say that if a natural number

cannot be expressed as a sum of successive odd natural numbers starting with 1, then it is not a

e perfect square. We can use this result to find whether a number is a perfect square or not.
(1) How many odd numbers starting from 1 has to be added to get 256 (1 mark)
(ii) Express 121 as the sum of 11 odd numbers. (1 mark)
(1ii) If 81 is the sum of “n” odd natural numbers starting from 1, then find “n”. (2 marks)
OR
Without actual adding find the sum of 1 +3 + 5+ 7 + --—- -————- +29,

38. Numbers obtained when number is multiplied by itself by three times are known as cube ‘
numbers. If in the prime factorisation of any number each factor appears three times then then a
' numberis a perfect cube. Cubes of even numbers are even and odd numbers are odd. Numbers

like 1729,4104 etc. are known as Hardy-Ramanujan numbers. They can be expressed as sum of

two cubes in two different ways.
o (i) Find the unit place digit in the cube of the number 7777 ? (1 mark)
(ii) Find the cube root of 1728? - (1 mark)
(iif) What is the smallest number by which 53240 must be multiplied to obtained a perfect
cube? (2 marks)
OR

Is 1188 is a perfect cube. If not by what number it should be divided to get a perfect cube?

*E¥
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A ﬁ'&QT / General Instructions:

1. All questibns are compulsory.

2. Question paper contains total 41 questions.

3. Question qumber 1 to 20 is multiple choice questions including assertion

%nd reason questions of one mark each.

4. Question 21 to 29 is Very short answer type questions of two marks

each.
5, Question 30 to 37 is Short answer type questions of three marks each.

6. Quesﬁon 38 to 39 are Case based questions of four marks each.
7. Question 40 to 41 is Long answer type questions of five marks each.
3. Draw neat labelled diagrams wherever applicable. ‘

Multiple choice questions (1x20= 20)
1i The crops which are sown in the rainy season are called )]
A) zaid B) kharif C) weeds D) rabi
2! Farmers with small holdings of land do the separation of grain and chaffby (1)
A) ploughing B) weeding ~ C) winnowing D) threshing

3. During rainy season moist bread gets spoilt and its surface gets covered with (1)
greyish white patches. We observe tiny black rounded structures through a

magnifying glass called as

A) penicillium B) rhizobium  C) bread mould D) spirogyra
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10.

)

Yeast reproduces rapidly and produces during respiration.

A) hydrogen gas  B) nitrogen gag .C) carbondioxide gas D) water, .
0))

Itis used in the manufacture of steel and in'the extraction of many metals.
) . ¢

A) coal B) coke C) coal tar D) wood

The conditions transformed the dead organisms into petroleum and natural 1)

gas over millions of years are

A) absence of air, high temperature, and high pressure
B) presence of air, low temperature, and low pressure
C) absence of water, low temperature, and low pressure

D) presence of water, high temperature, and low pxeééurﬁ? .,‘ y RN

Chemical process in which a substance reacts with oxygen to give off liéat'is* (1)
Ca]led st IO V&

o

A) explosion B) combustion C) transpiration D) rusting

Which among the following is a\spontzmeoﬁs combustion? o s )
A) fire in coal mines .. B) burning magnesium TR
B) C) buming crackers - D) burning matchsticks

It is dangerous to burn coal in a closed room as it gives poisonous gaswhich (1)

is
A) Hydrogen B) carbon dioxide
C) carbon monoxide D) nitrogen

Large areas of protected land for conservation of wild life, plant and animal (1)

resources and traditional life of the tribals living in the area is called as
A) Wildlife Sanctuary B) National Park C) Biosphere Reserve D) Zoo

Those species of plants and animals which are found exclusively in a )

particular area are species.

A) endangered B) extinct  C)red data D) endemic
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12,

13.

14.

15.

16.

17.

(D
\
Young Frog \
Tadpole with
y

In the given figure, identify the process taking place in the transformation of
larva (tadpole) into an adult.

A) growth B)budding C) metamorphosis D) fertilisation
The term for the developing new individuals in hydra is 0]

A) embryos B)buds C)spores D) seeds
In amoeba, the first step in the process of asexual reproduction is (hH

A) division of the body into two B) division of its nucleus into

two nuclei

C) formation of buds D) fusion of gametes
The best fire extinguisher for fires involving electrical equipments and D
inflammable material is-

A) carbon dioxide type extinguisher B) water type extinguisher

C) water mist type extinguisher D) wet chemical type extinguisher
Which of the following crops require abundant water supply? 1)

A) Paddy B) Pea C) Linseed D) Wheat
Vaccination is not required for the disease 1)

A) Polio B) Typhoid C) Malaria D) Hepatitis A
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19.

20.

Assertion (A): Viviparous animuls give birth to young ones, (1)

Reason (R): In viviparous animals, the development of the cmbryo takes
place outside the female body.

A) Both A and R are truc and R is the correct explanation of A.
B) Both A and R are true but R is not the correct explanation of A.
C) A'is true but R is false,
D) A is false but R is true.
Assertion (A): Natural gas is a very impoxtant fossil fuel, 0)) D

Reason (R): Natural gas is easy to transport through pipes and can be used

for power generation, as a fiiel for transport vehicles, and can be directly
supplied to homes and factories through pipelines.

A) Both A and R are true and R is the correct explanation of A.
B) Both A and R are true but R is not the correct explanation of A.
C) A is true but R is false.

D) A is false but R is true.

Assertion (A): Microorganisms are classified into four major groups: ' 09)]

bacteria, fungi, protozoa, and some algae. )

Reason (R): Microorganisms can only be observed with the help of a

microscope.
A) Both A and R are true and R is the correct explanation of A.
B) Both A and R are h'ue; bu; R is not the correct explanation of A.
C) A is true but R is false.

D) A is false but R is true.
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Very Short Answer Type Questions (2x9=18)

21. i : ;
Earlicr, farmers in northem India used to grow legumcs as fodder in onc (2)

scason and Wheat in the next scason, This helped in the replenishment of the

soil with nitrogen. Farmers are being enconraged to adopt this practice.

Name the agricultural practice adopted by the farmer in the given paragraph.
Also give other method of replenishing the soil with nitrogen.

22. Name the two modern methods of irrigation which is used in regions where ~ (2)

availability of water is poor.

23. What are preservatives? Name two common preservatives used in jams and ~ (2)
Q
- squashes.
24. What is ignition temperature? )
25. Why burning of coal and diesel are not advised? Name the cleaner fuel. (V)
26. Why should paper be saved? Write any two reasons. (2)
27. 3,60,000 KJ of heat energy was produced when a 9 kg of a fuel was burnt. (3]
Calculate the calorific value of the fuel,
28.  What s external fertilisation? Give 2 examples. ()
29. Name the carrier of dengue virus and malaria. 2)
Q Short Answer Type Questions (3 x 8=24)

30. Draw neat labelled diagram to show different zones of a candle flame. 3

31. Write three differences between male and female reproductive system in 3

humans, L)
32. Give three reasons why manure is better than using fertiliser. 3)
33. Draw and explain process of reproduction in Amoeba. ‘ 3
34, How can we save petrol/diesel while driving? Mention any three ways. " (3)

3s. What are endangered animals? Namc the book which keeps a record of all 3)
endangered plants and animals.
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39.

i itats.
Name and define the three protected areas of flora, fauna and their habi

Draw and label plough, Write one usc of plough.

Case Based Questions  (4x2 =§)

Fuel Calorific Value
(kJ/kg)

Cow dung cake 6000-8000
Wood 17000-22000
Coal 25000-33000
| Petrol 45000
Kerosene 45000
Diesel - 45000
Methane ] 50000
CNG 50000
LPG 55000
Biogas 35000-40000
Hydrogen 150000

Based on the given table answer the following questions;

a) Define calorific value, . (1)
b) What is the unit of calorific value 1)

¢) Suppose you were asked to boil a given quantity of water using cow

- (2
dung, coal and LPG as fue], Which fuel would you prefer? Give @
reason, '

Case Study: -

Paheli and Boojho are learning about the impacts of deforestation and the
importance of conserving forests and wildlife, They understand that
deforestation involves clearing forests for purposes such as procuring land
for cultivation, building houses and factories, and using wood for fuel,
Professor Ahmad explains that deforestation leads to severa] environmental
issues including increased temperature, higher pollution levels, and elevated
carbon dioxide in the atmosphere. This results in global warming, disturbed
water cycles, and reduced rainfall, which can cause droughts. Deforestation
also leads to soil erosion, reduced soil fertility, desertification, and a

decrease in the water-holding capacity of soil, leading to floods. Moreover,
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it affects animal life and biodiversity,

a) Is deforcstation advisable? Give reason. ()
b) What is descrtification?

. 1
c) Explain how deforestation can lcad to both droughts and floods. 2

(2)
LONG ANSWER TYPE QUESTIONS (5x 2=10) /
40. Describe the role of microbes in 6))

a) Soil fertility

b) Formation of curd

e

c¢) Vaccine
d) Fermentation
¢) Baking industries
41. A) What precautions should be followed while consuming antibiotics? 3)
B) Name the following

i The scientist who discovered vaccine for small pox. (V3]

ii. Disease causing microbes.
iii. Condition which is caused due to consumption of stale food.

iv.  Slow process of conversion of dead vegetation into coal.

D

kkE
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AT fA2/General Instructions:

® This question paper comprises Five sections = A,B,C,D,E and F. There are 3
questions in this question paper

e Section A- Questions from serial number X to 20 are MCQs of I mark each.

o Section B —Question no 21 to 24 are Very Short Answer Type Questions, carrying2
marks each. Answer to each question should not exceed 40 words

o Section C - Question no 25 to 29 are Short Answer Type Questions, carrying 3 marks
each. Answer to each question should not cxceed 60 words

o Section D - Question no 30 to 33 are long Answer Type Questions, carrying 5 marks
each. Answer to each question should not exceed 80 words.

e Section E- Question no 34 to 36 are case based questions with four sub questions and
are of 4 marks each

o Section F - Question no 37 is may based carrying 5 marks

SECTION A
MULTIPLE CHOICE QUESTIONS (20x1=20)

1. Natural vegetation and wildlife exist only in the narrow zone of contact between the
lithosphere, hydrosphere and atmosphere that we call

a) Biosphere b) Lithosphere ¢) Ecosystem d)‘ Atmosphere
2. Warren Hastings became the first Governor Genexral of India in .

a) 1773 b) 1753 ¢) 1873 d) 1663
3. was the last of the powerful Mughal rulers.

a) Babur b) Shahjahan ¢) Bahadur Shah Zafar d) Aurangzeb
4. means a royal edict or a royal order.

a) Farman b) Mercantile ¢) Nabobs d) submissiveness
S. On 12 August , the Mughal emperor appointed the East India Company as the

Diwan of Bengal.

2) 1755 b)1785 631765 d) 1700
6. is a term used in Madhya Pradesh for shifting cultivation.

a) Mahua b) Sal c) Hajang d) Bewar
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7. It means the exclusive right over any idea or invention.
a) value b) utility ¢) patent

8. Using resources carcfully and giving them time to get renewed is called __

d) potential

a) Resource conservation b) resource depletion
c) Resource activation d) all of these
9. The factors affecting soil formation are .
a) Relief b) time c) parent rock d) all of these
10. are simply defined as the mass movement of rock, debris or earth down a
slope.
a) Earthquakes b) landslides ¢) volcanoes d) tsunami
11. Common Property Resources means
a) Private land b) community land ~ c) both of these d) none of these 9)
12. The most important aspect of Secularism is its separation of from the state.
a) Caste b) Race c) Language d) Religion
13. .According to the Constitution, there are _ organs of the government.
25 b)2 03 ' H4
14. The Constitution prohibits human trafficking, forced labour and children working under
years of age.
a) 14 b) 18 c) 16 d) 15
1534 refers to the separation of religion from the State.
a) Democracy b) monarchy c) bureaucracy d) secularism

16. The Parliament in India consists of the , the Rajya Sabha and the Lok Sabha.

a) President b) Prime-Minister c¢) Governor d) Speaker )
17. Lok Sabha with a total membership of 543 is presided over by the )
a) Chief Minister b) Speaker c) President d) Vice-President
18. Using resources carefully and giving them time to get renewed is called
a) Resource Conservation b) Sustainable development
¢) Rescore development d) None of the above

19. The breaking up and decay of exposed rocks, by temperature changes, frost action,
plants, animals and human activity is called

a) Erosion b) Weathering
- ¢) Transportation d) Deposition
20. Wlthm the system of cultivation, the planter produced indigo in lands that he
directly controlled.

~ a)Nij b) ryoti c) bigha d) none of these
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SECTION B
VERY SHORT ANSWER QUESTIONS (4x2=8)
21. Why did the British preserve official documents?’
OR

What problems did shifting cultivators face under British rule?
22. Write a short note on ‘Subsidiary Alliance System’.
23. Why are resources distributed unequally over the earth?

24. Why does a democratic country need a Constitution?
OR

Write any two objectives of a secular state.

SECTION C
SHORT ANSWER BASED QUESTIONS (5x3=15)

25. Will the government intervene if some religious group says that their religion allows

them to practice infanticide? Give reasons for your answer.
OR

Why do you think an independent judiciary is iecessary to carry out its important
function of upholding the law and enforcing fundamental rights?
26. What are the terms of the Doctrine of Lapse?
OR

What was nij cultivation?
27. How did the powers of tribal chiefs change under colonial rule?

28. Why is land considered an important resource?
OR

How is water an important resource?
29. Write any three principles of sustainable development.

SECTION D
LONG ANSWER TYPE QUESTIONS (4x5=20)

30. What are the different types of resources? Explain.
OR

‘What are the different methods of soil conservation?

31. How does the Parliament Control, Guide and Inform the Government?
‘ OR
What are the key features of Indian Constitution?

32. What is the structure of courts in India?
33, What is the problem with the periodisation of Indian history that James Mill offers?

OR
Describe the main features of the permanent settlement.

Page 3 of4

G Scanned with OKEN Scanner



D v Ot
CASE STSE&TI;XSNE:J) QUESTION (3x4=12)
34. Read the given source and answer the following qucstions.
Soil erosion and depletion are the major threats to soil as a resource. Both human and
natural factors can lead to degradation of soils. Factors which lead to soil degradation are
deforcstation, overgrazing, overuse of chemical fertilizers or pesticides, rain wash,
landslides and floods.

34.1 What do you mean by soil? (1m)
34.2 What are the major factors of soil formation? (1m)
34.3 What causes soil degradation? (2m)

35. Read the given source and answer the following questions.
Being a plant of the temperate zones, woad was more easily available in Europe. It was
grown in Italy, France and Germany and Britain. Worried by the competition from indigo,
woad producers in Europe pressurised their governments to ban the import of indigo.

35.1 Why did cloth dyer prefer indigo instead of woad? (Im)

35.2. In which countries the woad was usually grown? (1m)

35.3 Why did the European cloth producers persuade the government to relax the
ban on indigo imports (2m)

36. Read the given source and answer the foliowing questions.
The Indian Constitution allows individuals the freedom to live by their religious beliefs
and practices as they interpret these. In keeping with this idea of religious freedom for all,
India also adopted a strategy of separating the power of religion and the power of the
State. Secularism refers to this separation of religion from the State.

36.1. What do you mean by secularism? (1m)

36.2. What does the Indian Constitution allow its individuals? (1m)

36.3. Why is it crucial for a democracy to keep religion and state separate?  (2m)

SECTION F ;
MAP BASED QUESTION (lmx5=5m) Q
37. On the outline political map of India, locate and label the following places.

a) Delhi
b) Gonds

¢) The Indian Ocean
d) The Bay of Bengal
¢) The Arabian Sea
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